12

12

LOOKOUT BLOCK @ 24" OC —Hm.

(MAX OVERHANGE 12%)

PRE-ENGINEERED WOOD ROOF TRUSSES
AT 12" O.C. SELECT TRUSS CONNECTORS
FROM THE ANCHOR TABLE

PER TRUSS UPLIFT LOADS

i

TYPICAL DORMER WALL FRAMING:

- (2) 2x4 SYP#2 TOP PLATE
- 2x4 SPF #2 STUDS @ 16" OC
w/ H2.5a TO TOP PLATIE &
LST12 TO GIRDER @ 32" OC
- 2x4 SYP#2 PLATE NAILED THRU
ROOF SHEATHING TO GIRDER
w/ .131" x 3 1/4" NAILS @ 6" OC
- 7/16" OSB WALL SHEATHING
w/ 8" @ 6" OC EDGE, 12" OC FIELD

3/4" CDX UNBLOCKED
8d RS (131" x 3.25") @
6" OC EDGES & FIELD

4" OC GABLES

9!_0"

S

5/8" CDX FULLY BLOCKED
8d @ 6" OC EDGE 12" OC FIELD :\w

M

NAIL DECK TO RIM / LEDGER —\//

w/ 2 ROWS OF NAILS @ 3" OC

NOTE:

SEAL ALL PENETRATIONS

IN TOP PLATE AND FIRE
STOP BLOCKING WITH CODE
APPROVED SEALANT

TRUSS TO TOP PLATE
(6) .131"X3 1/4" TOE NAILS

(2) 2X8 SYP#2 TOP PLATE

\S— FOR LESS THAN 1500 Ib UPLIFT USE

2 X 2 X 1/8" WASHER w/ 1/2" HEX NUT
FOR LESS THAN 3750 Ib UPLIFT USE
3 X 3 X 1/8" WASHER w/ 1/2" HEX NUT

1/2" A307 ROD THREADED AT ENDS OR
1/2" ALL THREADED GALV. ROD @ 5'4" O.C. (U.N.O.)
INSTALL COUPLERS WHERE REQUIRED (TYP.)

2x8 SYP#2 STUDS AT 12" O.C.

1/2" GWB UNBLOCKED
5d COOLER NAILS @ 7" OC EDGE 10" OC FIELD

L'L, et NAIL DECK TO FLOOR JOIST

w/ 10d (.148" DIA.) @ 2 1/2" OC STAGGERED

LOG HOG w/ WASHER @ 12" OC
TOE-SCREWED INTO STUDS (3" MIN.)

CEILING FINISH
PER OWNER

— PRE-ENGINEERED WOOD ROOF TRUSSES
AT 12" O.C. SELECT TRUSS CONNECTORS
FROM THE ANCHOR TABLE
PER TRUSS UPLIFT LOADS

3/4" T&G8d @ 3" OC

2x10 SYP#2 SLEEPERS @ 12" OC
w/ SOLID BLOCKING @ BEARING

CEILING FINISH
PER OWNER

PRE-ENGINEERED WOOD ROOF TRUSSES
AT 12" O.C. SELECT TRUSS CONNECTORS
FROM THE ANCHOR TABLE

i LOOKOUT BLOCK @ 24" OC

(MAX OVERHANGE 12")

PER TRUSS UPLIFT LOADS

NOTE:
SEAL ALL PENETRATIONS

IN TOP PLATE AND FIRE
STOP BLOCKING WITH CODE
APPROVED SEALANT

TRUSS TO TOP PLATE
(6) .131"X3 1/4" TOE NAILS

(2) 2X8 SYP#2 TOP PLATE

FOR LESS THAN 1500 Ib UPLIFT USE
2 X 2 X 1/8" WASHER w/ 1/2" HEX NUT
FOR LESS THAN 3750 Ib UPLIFT USE
3 X 3 X 1/8" WASHER w/ 1/2" HEX NUT

|

TYPICAL DORMER WALL FRAMING:
- (2) 2x4 SYP#2 TOP PLATE
- 2x4 SPF #2 STUDS @ 16" OC
w/ H2.5a TO TOP PLATE &
LST12 TO GIRDER @ 32" OC
- 2x4 SYP#2 PLATE NAILED THRU
ROOF SHEATHING TO GIRDER
w/ 131" x 3 1/4" NAILS @ 6" OC
- 7/16" OSB WALL SHEATHING
w/ 8" @ 6" OC EDGE, 12" OC FIELD

3/4" CDX UNBLOCKED
8dRS (.1131"x 3.25 @
6" OC EDGES & FIELD
4" OC GABLES

i)

1/2" A307 ROD THREADED AT ENDS OR
1/2" ALL THREADED GALV. ROD @ 5'4" O.C. (U.N.O.)
INSTALL COUPLERS WHERE REQUIRED (TYP.)

2x8 SYP#2 STUDS AT 12" O.C.
1/2" GWB UNBLOCKED

5/8" CDX FULLY BLOCKI:_?
7 3 8d @ 6" OC EDGE 12" OC FIEld)

5d COOLER NAILS @ 7" OC EDGE 10" OC FIELD

NAIL DECK TO FLOOR JOIST

" " Al %‘V
w/ 10d (.148" DIA.) @ 2 1/2" OC STAGGERED AN \

LOG HOG w/ WASHER @ 12" OC
TOE-SCREWED INTO STUDS (3" MIN.) o,

/

w/ 2 ROWS OF NAILS @ 3" OC

\/- NAIL DECK TO RIM / LEDGER

3/4" T&G 8d @ 3" OC \_
y 2B @

NN

N

HEEEER

HEREREER

HENEEEEEENE

W\ _’/ 34" T&G 81 @ 3" OC —g P

Fam.)
i (2) 2x12 SYP#2 LEDGER—/ g\
wi (2) SIP SCREWS @ 12" OC

2x12 SYP#2 DECKING j ﬁ
CEILING FINIISH PER OWNER

»

E \— (2) 2x12 SYP#2 LEDGER
w/ (2) SIP SCREWS @ 12" OC

INTO SAME STUD AS LOG HOGS
SIMPSON CS20 w/ 14-10d

2x8 PT SYP#2 PLATE

—— 2x8 SILL PLATE

NAILED TO TOP PLATES

STUD TO STUD @ 48" OC L / w/ 131" x 3 1/4" NAILS @ 6"0OC

4" x 4" x 3/8" x §'-0" STEEL ANGLE //
w/ (3) 3/4" THRU BOLTS TO RIM BEAM

5/g" CDX FULLY BLOCKED 7
8d @ 6" OC EDGE 12" OC FIELD
— (2) #5 x 18" REBAR ;

DRILLED THRY ANGLE

— 24" x 24" CMU COLUMN

w/ (8) #7 VERT| ONE IN EACH
CORNER AND DN EACH SIDE
w/ HOOK TOP AND BOTTOM

1/2" A307 ROD THREADED AT ENDS OR

1/2" ALL THREADED GALV. ROD @ 5'4" O.C. (U.N.O.)
EPOXY INTO SLAB OR FOOTING w/ SIMPSON

"SET" EPOXY OR "ACRYLIC TIE" EPOXY SHALL
COVER BOLT TO TOP OF PLATE

)/— 2x8 SYP#2 STUDS AT 12" O.C.

q

SECTION E-E

NOT TO SCALE

24" x 24" GRADE BEAM
w/ (3) #5 @ TOP & BOTTOM

8" STEMWALL w/ #5 VERT @ 48" OC

#5 CONT IN BOND BEAM —4 I ‘ HOOKS TOP & BOTTOM

l

o t ©
30" x 20" x CONT.

STRIP FOOTER
w/ (3) #5 CONT

L SOLID TIMBER FLOOR JOISTS @ 72" OC
15" x 15" CYP#1 MIN. w/
(3) 2x8 SPF#2 STUD PACK OR SOLID BLOCKING
CENTERED UNDER EACH END

2x8 SILL PLATE
NAILED TO TOP PLATES

1/2" A307 ROD THREADED AT ENDS OR

w/ 131" x 3 1/4" NAILS @ s"ocs\’

/ XJNTO SAME STUD AS LOG HOGS

SIMPSON CS20 w/ 14-10d
\ STUD TO STUD @ 48" OC

1 3!_0"

{
/ /[

w/ (3) 3/4" THRU BOLTS TO)

1/2" ALL THREADED GALV. ROD @ 54" O.C. (U.N.O.)
EPOXY INTO SLAB OR FOOTING w/ SIMPSON

"SET" EPOXY OR "ACRYLIC TIE" EPOXY SHALL
COVER BOLT TO TOP OF PLATE

_\‘ 5/8" CDX FULLY BLOCKED
8d @ 6" OC EDGE 12" OC FIELD
(2) #5 x 18" REBAR

2x8 SYP#2 STUDS AT 12" O.C. —\

DRILLED TH

w/ HOOK TOP AND
2x8 PT SYP#2 PLATE

\ 4" x 4" x 3/8" x 50" STEEL ANGLE

RIM BEAM

RU ANGLE

24" x 24" CMU COLUMN
w/ (8) #7 VERT. ONE IN EACH
CORNER AND ON EACH SIDE

BOTTOM

&

7[
/7

8" STEMWALL w/ #5 VERT @ 48" OC

HOOKS TOP & BOTTOM

% i Te— #5 CONT IN BOND BEAM

l

L

. ’ .
30" x 20" x CONT.

STRIP FOOTE

R

w/ (3) #5 CONT

24" x 24" GRADE

BEAM

w/ (3) #5 @ TOP & BOTTOM

REVISIONS

ARCHITECTURAL DESICN SOF TWARE

SCOPE OF WORK:

This seal s for structural engineering for an
addition to a single family residence.

The structural work was partially complete at
the time of this engineering. Partions of the
structure Including connections and nalling
pattermns were already covered.

Therefore this engineering Is

1) as built documentation based on discussion
with the builders and personal observations,
2) engineering analysis of existing members
andconnections based on available information,
and 3) specification of future construction
required to provide wind load stability ta the
completed structure.

To the best of my knowledge this engineering
is as accurate as possible without dissembling
finished work. It is also quite apparent that the
owner's intent was to canstruct this addition in
full compliance with the structural requirements
of the building code and not allow deficiencies
In member sizes, materlal, ar workmanship.

WINDLOAD ENGINEER:

Mark Disosway, PE

Na.53815, POB 868, Lake City, FL 32056,
3B86-754-5419

DIMENSIONS:

Stated dimensions supercede scaled
dimensions. Refer all questions to
Mark Disasway, P.E. for resalution,
Do not proceed without clarification,

COPYRIGHTS AND PROPERTY RIGHTS:
Mark Disosway, P.E. hereby expressly
reserves its commaon law copyrights and
property right in these instruments of service.
This document is not to be reproduced, altered
or copied in any form ar manner without first
the express written permission and consent

of Mark Disosway.

CERTIFICATION: | hereby certify that | have
examined this plan, and that the applicable
portlons of the plan, relating to

wind engineering comply with section
R301.2.1, florida building code

residential 2007 & 2009 supplements

to the best of my knowledge.

LIMITATION: This design is valid for one
building, at specified location,

MARK DISOSWAY
P.E. 53915

Ganskop Jeff
Addition

ADDRESS:
Southwood Acres
Columbia County, Florida

Mark Disosway P.E.
P.O. Box 868
Lake City, Florida 32056
Phone: (386) 754 - 5419
Fax: (386) 269 - 4871

PRINTED DATE:
March 11, 2010

DRAWN BY: STRUCTURAL BY:
Evan Beamsley

Evan Beamsley

FINALS DATE:
March 11, 2010

JOB NUMBER:
1001020

DRAWING NUMBER

S-7

OF 7 SHEETS




